SN ASRED
B Myace(8PES/MEEE - +3)
S RRIE=FYRN= (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Aot S Dt 21,900,612 24,166,260 A2,265,648
Xl 1,800,000
< 126,100
Al 19,974,512
AT H(HEES/MGIEE - & F) 4,503,070 6,100,970 21,597,900
Xl 1,800,000
< 126,100
Al 2,576,970
otsa==& 4,503,070 6,100,970 A 1,597,900
Xl 1,800,000
< 126,100
Al 2,576,970
aeTAIESRE 2 207,000 160,000 47,000
< 62,100
Al 144,900
401 Al & HI & 2 O8I 207,000 160,000 47,000
< 62,100
Al 144,900
01 A& HI 207,000 160,000 47,000
Os0HE 272 A4 A 22 207,000
< 62,100
Al 144,900
A2 2T AE HE 1,857,000 1,857,000 0
Xl 1,300,000
Al 557,000
401 Al I 28I 1,857,000 1,857,000 0
Xl 1,300,000
Al 557,000
01 A& HI 1,857,000 1,857,000 0
O2ne =T AN 1,857,000
Xl 1,300,000
Al 557,000
Ore&+SoHE 724,000 724,000 0
Xl 500,000
< 64,000
Al 160,000
401 AIEBIZ 201 8I 724,000 724,000 0
X 500,000
< 64,000
Al 160,000
01 A& Bl 724,000 724,000 0
OsZEMEsZHU (IS4 +Z HE) 724,000
Xl 500,000
< 64,000
Al 160,000
a=EANES 2l 1,715,070 3,359,970 A1,644,900




SA: MBS
B ALCE(BEES/NHAE - )
Sl OEA4LE CEEEED
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
201 fEt2E | 169,070 163,470 5,600
01 AtR 2t 2l Hl 169,070 163,470 5,600
Ogt=8Hl 169,070
— =H2AAMHI(Z=335]) 63,0002 *2907 3] 54,810
— =Z A MHI(Z=18]) 352,000& *2901 =13 102,080
— = 2AMHI(R+=13]) 84,0002 1454 *15] 12,180
401 AIEBI L 2 CHEI 1,286,000 2,950,000 A 1,664,000
01 A€ dl 1,276,000 2,940,000 1,664,000
OttzNts4+E FHI (22 L=0.6km) 60,000
O2F&8 A2 A4 Fdl(2=2L=0.5km) 60,000
Ods AR A4 FHI(=HF,221=0.7kn) 150,000
Og=0t8 &> FH|(ZZ2L=1.2kn) 120,000
Og4itE A2 F| (& 2L=0.6km) 90,000
O ARL2Z A4 FHI(2Z2L=0.2kn) 40,000
OJHolotS &= FHI(HH) 200,000
O2rE = A& AAIEAHHI 60,000
OARZ2aTAIE . E261(20H2) 180,000
OAREaTAE S22 (2EHRAM) 60,000
OARESZTAE 522 26 (150H4) 100,000
OxZ=2aX9 AL & 25 100,000
OFFX KA (RL=AXEI)EX (150 2) 56,000
03 A2 2 THHI 10,000 10,000 0
OLARSEANE RFH 10,000
403 A X EHS =0l A 260,000 246,500 13,500
02 S| 2SO0l CHEHCH & A B 260,000 246,500 13,500
OanLeT A4 Xt HEF I SE A5
HA) 125,000
OLALLZAIE Xiots AFE22/(3000 ) 135,000
StaC e (BALS /MG A - £F) 2,797,542 2,465,290 332,252
St=X el A& 2,797,542 2,465,290 332,252
st A Bel 2,797,542 2,465,290 332,252
401 AIEHI L 2CHYI 2,797,542 2,465,290 332,252
01 A€ dl 2,795,542 2,463,290 332,252
Ogdst=xclAlE &l wk 1,274,442
—ot==cdXl ExJ &X 1,069,420
— ALK EABEE 210101 WA 95,700
— &% ZAMOE =Xl EX WA 109,322
Oeddt=HMelANE B+ B2 524,700
OntsSst=dMelAld HES=(O1=2 .38 .St 417,400
ONEZuXMlAIE KA 25,000




SN NEHAESD
HE: S 4CRR(BYLE/MOEE - 2F)
Sl b4 2l Al

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

O2=XMelAd W 88,000
OsAEMY Dl ot==8EXelAIE HA 466,000

03 Al S THHI 2,000 2,000 0
OtZII=AE &Hl A 2,000

PSS (M) (BBRS/40t4E - & 14,600,000 15,600, 000 1,000,000

HEHHK = 14,600,000 15,600,000 A 1,000,000

WEHH K= 14,600,000 15,600,000 A 1,000,000

701 JIEtSI HSHES 14,600,000 15,600, 000 A 1,000,000

02 BIISELIHZIHNES 5,000,000 0 5,000,000
Oot==371d SE3H 5,000,000

03 BIIHELEIAHN=2HEZ 9,600,000 15,600,000 26,000,000
O30/ EE3H 3,800,000
Oot==Z71 SE3H 5,800,000




